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Semester 2 2023                                                                                         In-Person Exam Paper 
 
This examination is to take place in-person at a central University venue under exam conditions. 
The standard length of time for this paper is 2 hours. 
 
You will not be able to leave the exam hall for the first 30 or final 15 minutes of your exam. Your 
invigilator will collect your exam paper when you have finished. 
 

 

Help during the exam 
 

Invigilators are not able to answer queries about the content of your exam paper. Instead, 
please make a note of your query in your answer script to be considered during the marking 

process. 
 

If you feel unwell, please raise your hand so that an invigilator can assist you. 
 

 
You may use a calculator for this exam. It must comply with the University’s Calculator Policy 
for In-Person exams, in particular that it must not be able to transmit or receive information (e.g. 
mobile devices and smart watches are not allowed).  
 
Answer four questions in total:  
Answer TWO QUESTIONS in Section A.  
Answer TWO QUESTIONS in Section B. 
 
Please use a separate answer book for each section. 
 
All questions carry equal marks.  
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…/continued 
 

SECTION A 
(Answer TWO QUESTIONS in Section A) 

 
 
1. a)  Explain the purpose of a risk register and its role in the management of construction 

project risk.  
   [8 marks] 

 
b)  Explain the required content of a project risk register. 
  [6 marks] 
 
c)  Explain how some probable risk events may harm a construction project while others 

may help it. 
  [5 marks] 
 
d)  Explain the role of allowances and contingencies in construction project risk 

management practice. 
  [6 marks] 

 
 
2. A public sector department has an ambitious plan for an infrastructure development 

scheme involving several mega and complex projects within the next 5 years.  The 
department, however, has inherent problems with a lack of expertise in complex project 
management and a limited availability of financial resources. The relevant Minister is very 
keen to get the development completed within time, within cost and to prescribed quality 
standards.  The Minister has asked for your advice and help. Some external consultants to 
the department have suggested Pure Project Finance and Public Private Partnerships 
(PPP) as alternatives for funding the scheme. 

 
a) Briefly explain why the PPP alternative should be deemed a suitable solution for the 

scheme.  
 [5 marks] 

 
b)  Outline and discuss 5 key issues that would form the basis of your advice to the 

Minister in order to reduce the risk of PPP failure for the scheme. 
  [10 marks] 
 
c)  The Minister is not clear about the difference between corporate financing and 

pure project financing. Describe the two options of financing in terms of their 
suitability for the development scheme. 

  [10 marks] 
 

 
 
 
 
 
 

Continues/… 



Copyright © Loughborough University. All rights reserved. 3 

…/continued 
 
 

3. a) Briefly explain the significance of the terms NPV, IRR and discount factor for 
making decisions on project selection. 

   [6 marks] 
 

b)  Two projects (A and B) are projected to generate cash flows over the period of 5 
years as follows: 

 
 

Project A Project B Year 
-1000 -1000 0 
329 250 1 
500 230 2 
100 300 3 
250 230 4 
350 315 5 

 
 
 

i) Calculate the NPV for each of the projects using the discount factors 10% for 
Project A and 3% for Project B. Find out IRR for Project A and Project B.  

 
 Use appropriate units and indicate the working process.  A Present Value table 

is appended to this paper.   
  [11 marks] 

 
ii) Which project is preferable based on NPV analysis for 10% and 3% discount 

factors?  
  [4 marks] 
 
iii) Which project, A or B, is preferable based on the IRR analysis? 
  [4 marks] 
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…/continued 
 

SECTION B 
 (Answer TWO QUESTIONS in Section B) 

 
4. Look at the financial accounts. 
 

 2022 £m 2023 £m 
P&L Account   
   
Sales  170 180 
Cost of sales  120 135 
Gross profit  50 45 
Administration and expenses  20 21 
Operating profit  30 24 
Interest 1 2 
Profit before tax 29 22 
Tax 7 4 
Net profit  22 18 
   

 
Balance Sheet     
   
Current Asset   
Cash in the bank 5 3 
Debtors  40 46 
Stock  15 21 
Non-Current assets   
Offices and plant 70 68 
Goodwill 6 6 
Provision 0 2 
Current liabilities    
Creditors  30 35 
Bank overdraft 4 0 
Noncurrent liabilities   
Long term loan 4 4 
Net assets   
   
Equity    
Shareholder funds 72 72 
Share premium  10 11 
Retained earnings   
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…/question 4 continued 
 
 
 

a) Explain the term share premium. Explain the possible meaning of the term provision 
in the table above. Define share option.  

  [6 marks] 
 

b)  Calculate the gross profit margin, the operating profit margin and net profit margins 
and discuss the possible reasons for the differences between each. Calculate the 
debtor days and creditor days explaining the relevance of these figures.                                                           
 [9 marks]    

 
c) Calculate the current ratio, the acid test ratio, balance sheet gearing ratio and explain 

the results.      
  [7 marks] 

 
d) Stock in the construction industry is often different to manufacturing. Identify three 

possible contributors to stock giving an example of each in the construction accounts 
for a house builder.  

  [3 marks] 
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…/continued 
 
5. A project is being monitored using the earned value method, has a budget of £4m and is 

planned to complete in 12 months. The following table shows the values for BCWS and 
BCWP at the end of the first few weeks. The ACWP at week twenty is £1.5m. All costs 
relate to labour only. 
 
 
Activity  Start at the 

beginning 
of week 

Duration in 
weeks 

 

BCWS (£K) BCWP % 
complete 

ACWP 

A 0 4 80 100  

B 0 8 120 100  

C 5 12 360 50  

D 9 8 320 60  

E 17 12 720 40  

F 13 8 400 20 
 

G 25 12 600 0 (zero) 
 

      

 
Required: 
 
a) Draw an earned value diagram updated to show the position at the end of week 

twenty. Label your diagram as fully as possible.   
  [7 marks] 
 
b) Why is it possible for values for BCWS to be available beyond the current date 

(assumed to be end of twenty weeks) but not values for BCWP and ACWP? 
  [3 marks] 
 
c) At the end of week twenty, what are the values of the cost variance and schedule 

variance? Explain the meaning of these values.   
   [4 marks] 
 
d) At the end of week twenty, what would you estimate the cost at completion and the 

likely time for completion of the project to be, making two different assumptions about 
future performance?   

   [5 marks] 
 
e) What can a project manager deduce about a project in this situation? Explain how 

this situation may have occurred. Suggest actions that a project manager might take 
to manage a project in this situation.   

  [6 marks] 
Continues/… 
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…/continued 
 

 
6. a)  The construction industry is often perceived to be monopolistic although framework 

agreements are often considered to create oligopolies with the possibility of collusion. 
Identify the advantages and disadvantages to the client of tendering through 
framework agreements and competitive tendering. 

    [10 marks] 
 

b) A construction company is looking to grow its business and is considering long term 
loans.  Discuss the advantages and disadvantages of:  
 
i) issuing shares 
ii) leasing 
iii) long term loan from the bank 
iv) a government bond. 

[8 marks] 
 

c) Calculate the weighted average cost of capital (£400k) based on the following;  
   

Ordinary shares (£200k) at 4% 
Government bond (£100k) at 8% 
Bank loan (£100k) at 13% 

[2 marks] 
 

d) Use Porter’s five forces to show how the UK construction housing sector works for a 
national house building developer and why the house purchaser has to pay the 
asking price for a property. 

  [5 marks] 
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…/continued 
 

 

 

 

 
 


